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PHYS 11

Test 2 | Reading graphs
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Exercice 1 Complete the graphics :
Situation Position Vitesse Accélération
x [m] v [m/s] a [m/s?)
a) A car breaks before hitting me:
tls] ts] tls]
x [m] v [m/s] a [m/s?)
b) Arunner starts to run:
tls] ts] tls]
x [m] v [m/s] a [m/s?)
c) |Iletfall a pen:
tls] tls] tls]
a [m/s?)

x[m]

d) A cat goes away at constant velocity:

v [m/fs]

t[s]

t[s]

t[s]

x [m]

e) Nothing moves:

v [m/s]

a [m/s?]

t[s]

t[s]

t[s]

Exercice 2

vitesse [m-s7']
J

The graph below gives the velocity of a mobile as a function of time:

» temps [s]

10



a) What is the maximum velocity?

b) What is the minium velocity?

c) What s the strongest braking?

d) What is the average velocity between 0 s and 2 s?

e) Whatis the acceleration between 2 sand 3 s?

f)  What is the acceleration between 3 sand 5s?

Exercice 3 Explain the race between a rabbit and a tortle in the following cases:
D
A
> t
b) x(t)
A
>t
L
A
> t
d x(t)
A
>




